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Answer all 20 questions from Group A, each question
carries 1 marks.
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Answer all Five questions from Group B, each question

carries 4 marks.
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Answer all Five questions from Group C, each question
carries 8 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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10.

Uh W fuz @ geradar 4 Sraar gvor s
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qofq &Y |

OR (312141)

Describe deflecting torque and controlling torque
in detail for a measuring instrument with figure.

foa @ a1 e 994 SudF 3q fadus 90—
ATl e rEA$ de—3regel &1 i fawqd
¥q 9§ X |

Describe the construction and working principle
of Dynamometer type wattmeter.

sAAHIer v f arefier & Gx=aAr ud
BRI —RIgT=d &1 99 & |

OR (312141)

How high voltage and currents are measured with
the help of instrument transformer ? Describe
it.

0T6021

(i)

(iii)

(iif)

(iv)

3 20604

9c T HoviloUo FHIS ... BIdT 2 |
(@) e

(@) s

(|) arc

(?) S

Kelvin double bridge is best suited for the
measurement of ...........

(a) Low resistance

(b) High resistance

(¢) Inductance

(d) Capacitance

The equivalent resistance of an ideal
voltmeter is .................. ?

(a) Zero

(b) Very Small

(c) Medium

(d) Infinite
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GROUP -C i)  —ufaRie @ §IRT AU ST @ |

Answer all Five Questions.

. _ _ 8x5=40 q) diceHicx
Y ufg gel & SR Q| @)

(|) dqre Hiex
7. How will you measure low resistance with the help (q) IR

of Kelvin's double bridge ? Explain it. What are

precautions for this measurement. (vii)  Schering bridge is used to measure ............
8 (a) Inductance

(b) Capacitance
wfea saa fis 1 werdar @ = uferia (c) Resistance

B HIT MY DI BRI ? SAD ATET DN | (d) None of these
9 HIUA Bq $IF I AraunfEr 8?

(vii) AT ST BT ST o H19+
gq fear smar 82
OR (3121a1) (&) TP
(@) arfar
Describe the construction, theory and working of a (@) ufo”ie
current transformer with a neat sketch. (?) 39 4 BIg T8
T Wov R~IF & gergdr 4 arT gRonfis (viii) Mutual inductance can be measured by .........
S R Ud pri—yuidl € (a) Anderson bridge
) (b) Heaviside bridge
T X | (c) Maxwell bridge
(d) Any one of the above
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OR (3121a1) (x)

What is the purpose of damping torque in an
indicating instrument ? How it is usually provided ?

Addd SUYA U 3qic Ul 9 b T
ATATIHAT 22 39 HFA: DY T STdl 272
(xi)

Why is Ammeter -Voltmeter method not suitable
for the precision measurement of low resistance.
Explain it.

4
1 iRl @ |&9 wv9 @ fag smsfies—
dreeriiex faftr i T Sugea 2?2 g
g9 |

(xi)

OR (312f1an)

Explain creeping error.

faador Ffe &1 avfq & | (i)

Describe the merits and demerits of LVDT.
4

Tdodloglodlo & Euﬁ Ud SISl &7 9ui9 & |

7 20604
Uh Il gl SUIHA | oo >d
gldr 2 |
(31) "wey
(9) srgwvy
(\) afta
(®) 379 A »ig 7€

In spring controlled instruments, controlling
torque is proportions to .............

(a) Sin6

(b) CosO

(c) TanB

(d)6

g e Suaal 4 faas gt
C [ . ST FHTUTT BIdT 2 |

Which of the following is used to extend
the range of DC ammeter ?

(a) Multiplier

(b) Shunt

(c) Capacitor

(d) None of these
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In a microcomputer , microprocessor is its ....

(a) Memory

(b) Brain

(c) Heart

(d) Control Unit

ATSHI Y H ATSHIYIHAR SHBT

(]) B Jfre

0T6021

(xv)

(xv)

In DC circuit, power loss can be measured
by v formula.

(@) VI Cosd

V2
® =

() VR

(d) None of these

Slodlo yRuer # wrfad =g ... A
q Hd P ST obell & ?

(31) VICosd
@ ¥

@) VR

@) 9 @ 5
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